Floreat Park Primary School, Floreat, WA

38 Chandler Avenue West, Floreat Park, 6014

2022 Requirements List for Year 1 Your Access Key: 9RZ5V



Please order online at wincschools.com.au

At Winc we want your child to have a strong start to the new school year, which is why we have worked with your school to make Back to School hassle free.

Ordering made simple.

We've made it quick and easy to order your child's new year requirements. Simply visit **wincschools.com.au** and follow these four steps.

- Search for your school, Floreat Park Primary School, Floreat, WA and enter your school access key 9RZ5V if required.
- 2. Complete the student's details and select Year 1.
- Review your requirements list and make changes if required.
 Please note: some list items have been denoted by your school as a prerequisite for the subject or year.
- Proceed to checkout.

Please note: For home deliveries only, if you have more than one student at the same school, please repeat the above steps.

Once completed, an order confirmation will be sent to your email address.

Please note: Any technology items you order may be sent separately.

Deadlines and delivery information.

Home delivery:

Delivery Fees:

Free Delivery: for orders placed on or before 15th December 2021; \$12.95 delivery: for orders placed after 15th December 2021.

Orders Placed:

On or before 31st December 2021 will be delivered before the start of Term 1 2022.

Please Note: For orders placed after 31st December 2021, we cannot guarantee delivery prior to Term 1.

Australia Post

Orders are delivered via Australia Post's eParcel service. As soon as your order is dispatched an email will be sent to let you know the Australia Post tracking ID Number. Your order can be tracked at auspost.com.au.

Note: PO Box addresses are not accepted by Australia Post.

Payment methods accepted









Back to School that gives back.

Every time you buy textbooks or stationery from Winc, we give a portion of your spend back to your School. A few small exclusions apply, which you can find out about at wincschools.com.au/givesback



Floreat Park Primary School, Floreat, WA 38 Chandler Avenue West, Floreat Park, 6014

2022 Requirements List for Year 1 Your Access Key: 9RZ5V



Have a question?

For assistance with your order, returns and refunds and delivery information, or for a general enquiry, please visit wincschools.com.au/helpcentre

To view our full terms and conditions, please visit wincschools.com.au/termsandconditions.



Floreat Park Primary School, Floreat, WA 38 Chandler Avenue West, Floreat Park, 6014

2022 Requirements List for Year 1 Your Access Key: 9RZ5V



CODE	DESCRIPTION	QTY	PRICE	TOTAL
Year 1				
Parents To Supply : 1 x Luse liquid paper).	ibrary Bag, 1 x Art Shirt (Adult Size). Books to be clearly marked with you	ur child's n	ame (please	e do not
Recommended Ite	ems			
	Please select either Right or Left handed scissors	1	\$1.22	\$1.22
25090626	Officemax Blunt End Scissors Right Handed 130mm Red (Variants available)		\$1.22	
25097531	Officemax Blunt End Scissors Left Handed 130mm Green (Variants available)		\$1.22	
25093093	Winc Blue Glue Stick 40g	4	\$1.63	\$6.52
25095934	Faber-castell Textliner Ice Highlighter Chisel Tip Yellow	1	\$1.33	\$1.33
86635132	Marbig 22006 Prest Folder Flic File 20 Pockets A4	1	\$5.40	\$5.40
53097002	Artline 70 Permanent Marker Bullet 1.5mm Black	2	\$3.15	\$6.30
86992402	Crayola Twistable Crayons Pack 12	1	\$8.80	\$8.80
28131300	Faber-Castell Eraser With Sleeve PVC-Free Large	1	\$0.84	\$0.84
87127120	Faber-Castell Triangular Junior Coloured Pencils Pack 20	1	\$13.38	\$13.38
25093640	Winc Unpolished Wooden Ruler 30cm - Measurement in CM and MM	1	\$0.53	\$0.53
18892646	Artline 200 Marker Fineline 0.4mm Black	1	\$2.75	\$2.75
18904882	Faber Castell 116572-HB Pencils Triangular Junior HB	6	\$0.59	\$3.54
25094731	Sellotape Sticky Tape 24mmx66m	1	\$2.90	\$2.90
25090968	Winc Handy Pouch Plastic Pencil Case Mesh Zip 345 x 240 mm A4 Clear	2	\$3.05	\$6.10
86661865	Faber-Castell Connector Pens Coloured Markers Assorted Pack 20	1	\$9.23	\$9.23
25121661	Faber-Castell Magnetic Whiteboard With 2-in-1 Marker	1	\$9.68	\$9.68
86578506	Artline 577 Whiteboard Marker Bullet Tip 2.0mm Assorted Colours Set 4	1	\$11.92	\$11.92
25133087	Elizabeth Richards Write n Wipe Paper Saver Sleeves	1	\$3.40	\$3.40
25090934	Officemax Megaspace Scrapbook 335x245mm 100gsm White 64 Page	3	\$1.39	\$4.17
25102270	Winc Exercise Book Western Australia 300x215mm 20mm Ruled 60gsm 32 Pages	2	\$0.99	\$1.98
25091538	Buddee BD903032-BK Premium Volume Limited Headphones Black/Silver	1	\$18.69	\$18.69
25100020	May retain from previous year	1	¢10.05	¢10.05
25108830	Oxford Handwriting For New South Wales Year 1	1	\$18.95	\$18.95 I: \$137.6 3
Specialist Prograr	n		Tota	ψ137.00
86555071	Faber-Castell Goldfaber Graphite HB Pencil	1	\$0.52	\$0.52
28131300	MUSIC: ALL STUDENTS Faber-Castell Eraser With Sleeve PVC-Free Large MUSIC & ART: ALL STUDENTS	2	\$0.84	\$1.68
	IVIUSIC & ART. ALL STUDENTS		To	otal: \$2.20
				.α ψ ∠ .∠(

Floreat Park Primary School, Floreat, WA

Floreat Park Primary School, Floreat, WA 38 Chandler Avenue West, Floreat Park, 6014

2022 Requirements List for Year 1 Your Access Key: 9RZ5V



CODE	DESCRIPTION	QTY	PRICE	TOTAL
New Students Onl	у			
25090934	Officemax Megaspace Scrapbook 335x245mm 100gsm White 64 Page STEM: NEW STUDENTS ONLY	1	\$1.39	\$1.39
25093143	Winc/Teter Mek 279 x 356mm Visual Art Diary Spiral 110gsm Black Cover 120 Pages ART: NEW STUDENTS ONLY	1	\$5.81	\$5.81
			Total: \$7.20	